Name __________________________________________
       
        Exam I, Math 2040, Spring 2005
1. Determine whether the equation represents a function. State your answer as “a function” or “not a function.”

xy + y – x = 5


2. Find the domain of
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3. Find the difference quotient for f(x) = 3x2 + 5x – 8, using the formula 
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.  Simplify the expression as much as possible.


4.
Sketch the graph of f(x) = x3. (A)

5. State the elementary function

                                                                                       that matches the graph (B).
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6. The function below has undergone several transforms from the elementary function f(x) = x2.  Choose any one of the three types of transformations, state which transformation you are discussing, and explain what was done to achieve this.
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7. Use the graph below to sketch the graph of the piecewise function 
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8. Write the equation of the line with a slope of  
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, and passing through the point (6, 1).
9. Using any method you are familiar with find a) the intercepts, b) the vertex, and c) the max or min of the following function:

f(x) = x2 - 6x + 5
10.
Consider the equation 
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.  By whatever means you have available (graphing, factoring, quadratic formula, etc.) find a) the x-intercepts, b) the y-intercept, and c) the maximum number of turning points in the graph.
11. Find the vertical asymptotes of the graph of 
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12. Simplify as much as possible the expression 
[image: image10.wmf]4

3

-

-

x

x

e

e

.
13. Approximate the real zeros of the function 
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14. Graph the function 
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.  State whether this function has an inverse.
15. Solve the equation for x.  You may use properties of logarithms or use your 


calculator.
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